FgArea: [0 ]
NC11 P3-11
2025-05-31 (Day 59)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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P3-11

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS SRR

07:35 283 150.0 28.875 FH| 70HA@07:35 KREIEF (KRATRELES)
08:10 283 150.0 28.875 FA| FHA@08:10 KRHIEF (KAL)
08:45 283 150.0 28. 875 FA| FiHA@08:45 KRHIEF CRAKZEES)
09:25 283 150.0 28. 875 FB| FiHA@09:25 KENFEF (FKAEHE)
10:05 283 150. 0 28. 875 FA| FiHA@10:05 RHIEF (KAEZRKSD)
10:40 283 150.0 28. 875 FA| FiHA@10:40 KRHEF CRAKZRS)
11:15 283 150.0 28. 875 FB| FiHRe11:15 KREEF (KAFHE)
11:50 283 150.0 28. 875 FA| FiHR@11:50 RHEF (KAEZRS)
12:20 283 150.0 28.875 FA| FhHA@12:20 KEFEF (KRFATEEES)
12:50 283 150.0 28. 875 FA| TiHA@12:50 KRHEF CRAKZRS)
13:20 283 150.0 28. 875 M| FiHEfe13:20 RHIEF (REAEESE)
13:55 283 150.0 28.875 M| FuHA@13:55 KRENFEF (RAB{EEEE)
14:30 283 150.0 28. 875 M| FiHAe14:30 KEEF (GRAFRSE)
15:05 283 150.0 28.875 fl|  FHRe15:05 REAIZEF (REAEZRER)
15:45 283 150.0 28.875 M| FaHAe15:45 KEIEF CGRPFEEE)
16:30 283 150.0 28. 875 M| FiHAe16:30 KEEF (GRAFERESE)
17:30 283 150.0 28.875 FH| FhHA@17:30 KREFEF (RATREES)
2it]4811.0 (17%) 2550. 0 3EUHIKEC: 2080.0, PH: 5.8

F[EIKECE (2087.0 vs 4813.0) d 5
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P3-11_0, Day=59 (2025-05-31)
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P3-11

RriE) | EBIATK (FD) | EME (EH/) | BEBREE (B/R) |[XKS EFF

06:40 283 150.0 28. 875 ] B21%@06:40 Bzh (RFATRES)
07:25 283 150.0 28. 875 A Ri%@07:25 Bz (REAERSE)
08:10 283 150.0 28.875 ] ;Ri&@08:10 Bzl (kAfEEE)
09:20 283 150.0 28.875 i B218@09:20 Bzh (FRFATREE)
10:25 283 150.0 28. 875 1] Ri%@10:25 Bz (REAERS)
11:10 283 150.0 28. 875 FA Bige11:10 Bsh (GRAEESE)
11:50 283 150.0 28. 875 i B2i1%@11:50 Bzh (RAKRESE)
12:30 283 150.0 28. 875 ] B1%@12:30 Bzh (GRAERESE)
13:10 283 150.0 28. 875 A BRige13:10 Bzl (GRPEEE)
13:50 283 150.0 28. 875 A ;Ri&@13:50 Bz (RPBERE)
14:50 283 150.0 28. 875 ] B2i18014:50 Bzh (RAKRESE)
15:55 283 150.0 28. 875 FA| f&F#iTe15:55 Bah (KRBERE)
17:10 283 150.0 28.875 ;] Big@17:10 Bzh (RAEESE)
23t 3679.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.7

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.
HEEIKECE (2220.0 vs

4893.0) it 5

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=58 (2025-05-30)
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P3-11

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:20 283 150.0 28.875 RS {Ri&e07:20 B (REAEHE)
07:55 283 150.0 28. 875 RS {Ri&e07:55 Bz (REERE)
08:45 283 150.0 28. 875 A5 {Ri%@08:45 B (RFEHEREE)
09:35 283 150.0 28.875 (Z=| 1Ri&e09:35 Bzh (GREERESE)
10:10 283 150.0 28.875 |Z=| {Ri&e10:10 Bz (REAEHE)
10:50 283 150.0 28.875 (Z=| 1Ri%010:50 B3h (GREEESE)
11:25 283 150.0 28.875 (& =| 1®Rige11:25 Bzh (REERSE)
12:05 283 150.0 28.875 | =| {Ri&e12:05 Bz (REAEHE)
12:35 283 150.0 28.875 | =| {Ri&e12:35 Bz (REAEHE)
13:05 283 150.0 28. 875 S| 1Rige13:05 Bah (GREERESE)
13:40 283 150.0 28.875 RE| {Ri%ke13:40 Bz (REERS)
14:15 283 150.0 28. 875 B Rige14:15 Bz (GREAERSE)
14:55 283 150.0 28. 875 S| 1Rige14:55 Bah (GREERESE)
15:35 283 150.0 28.875 BE| {Rige15:35 Ba (REAEHE)
16:30 283 150.0 28.875 | =| {Ri&e16:30 Bz (REAEHE)
Bit| 4245.0 (15%%) 2250.0 3 WH%EC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

HEEHECE (2323.0 vs 4797.0) 15

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=57 (2025-05-29)

150 e/ F———1]
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad JFRV, ET 2944 | 3000
/ 2400 2400

100 42100 979

FRV (ml d-1)

50 i
60 1000
80 Warning: lcol [FVI',| "FVO’'] missing

(¢
200 -
150 -
100 A

50 -

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

1
Bylnit @D59 05:06: ET%1984 Fg=2550. 0 Ro=527.0

400 - - 3000

- 2000
200 -
- 1000

cumET (ml/plant)

Y — a— — —
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]
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BB | B | B | BF [BF | B |8 | BB | IZZ|22|2=(Z-| B | B | BB [ZZ| B | BB | BB [ | | [

]
ByWoFv @D39 05:06: ET*1919 Fg=2250.0 Ro=471.0

400 - 3000

- 2000
200 -
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P3-11

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:20 283 150.0 28. 875 S| 1Rige07:20 Bah (GREERSE)
07:55 283 150.0 28.875 RS {Ri&e07:55 Bl (REAERE)
08:55 283 150.0 28. 875 BE| 1Ri%e08:55 B (RF{EREE)
09:40 283 150.0 28. 875 e 1BRi%e09:40 Bz (REERSE)
10:15 283 150.0 28.875 BE| Rige10:15 Bzl (REAERE)
10:50 283 150. 0 28. 875 BE| 1Ri%e10:50 Bz (RF{EREE)
11:25 283 150.0 28. 875 e Bi%e11:25 Bz (GREERSE)
11:55 283 150.0 28.875 BE| Rige11:55 Ba (REAERSE)
12:25 283 150. 0 28. 875 BE| BRi%e12:25 Bz (GREAERESE)
12:55 283 150.0 28. 875 el Bi%e12:55 Bz (REERSE)
13:25 283 150.0 28.875 el Rige13:25 Bal (REAEHSE)
1400 283 150.0 28.875 BS| 1Ri%e14:00 Bz (GREMEEEE)
14:35 283 150.0 28. 875 s {Rige14:35 Bal (REEESE)
15:10 283 150.0 28.875 el Rige15:10 Ba) (REAEHSE)
15:50 283 150.0 28.875 BE| 1Ri%e15:50 B (GREMEESE)
16:35 283 150.0 28. 875 S| 1Ri%e16:35 B (RF{EREE)
23t 4528.0 (16)%) 2400. 0 #2333 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (184.0 :

ZRIALBRIERE153.0 ml.

ZE[ERECZE (2400. 0 vs 4503.0) i1 5

153.0), AlEEHT—@ % XA HS




P3-11_0, Day=56 (2025-05-28)

1MfF———————Trr——_——_——_——_—— ] - 3000
VI, V@RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2100 2100 214303 -
100 + 625 - 2000
E
50 - L 1000 2
40 80 -
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 { 430.0
T
+ L
s 150 - 215
ey W,
£ 100 1 - 25.0 =
E 50 4 - 22.5
1.0 20.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
800 :
— Bylnit @59 05:06: ET+1894 Fg=2400.0 Ro=504.0 ?3000 —_
P 1 P
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o =
N L 2000 X
= 200 - =
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c 300 - i c
()] ©
— ByWoFv @D59 05:06: ET%£2003 Fg=2400.0 Ro=473.0 @ e & o =
< 200 | [ 4 - - 2000 =
g _ | // L .
- 1
=
~ 100 - ! . il nnil i L 1000 iz
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0.6 -
0.4 1
0.2 A
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22 -

21 A

T T
600 800
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P3-11

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS ETE

07:30 283 150.0 28.875 [Z=| 1Ri%e07:30 Bzh (GEEESE)
08:05 283 150.0 28.875 | 1Rige08:05 Bzh (KREEEE)
09:00 283 150.0 28.875 |Z=| {Ri&@09:00 Bz (KREERHE)
09:45 283 150.0 28.875 [(Z=| 1Ri%e09:45 Bzh (GREEESE)
10:20 283 150.0 28.875 | =| {Ri&e10:20 Bz (REAEHE)
10:55 283 150.0 28.875 | =| 1Ri&@10:55 Bz (REAEREE)
11:30 283 150.0 28.875 (Z=| 1Ri%e11:30 Bzh (GREEESE)
12:00 283 150.0 28.875 |Z=| {Ri&e12:00 Bz (REAEHE)
12:30 283 150.0 28.875 | =| {Ri&e12:30 Bz (REAEHE)
13:00 283 150.0 28. 875 FH| 1Bi&@13:00 B3h (RAERSE)
13:30 283 150.0 28.875 FH| 1Ri%@13:30 B3h (KAERSE)
14:05 283 150.0 28.875 FE| 1BRi%@14:05 Bz (kBFERSE)
14:40 283 150.0 28. 875 FA| 1Bi&e14:40 Bzh (RAEREE)
15:15 283 150.0 28.875 |Z=| 1Ri&@15:15 Bz (REAEESE)
15:55 283 150.0 28.875 | =| {Ri&e15:55 Bz (REAEHE)
16:40 283 150.0 28.875 | =| {Rig&e16:40 Bz (KREAEHSE)
23t 4528.0 (16)%) 2400. 0 #2333 %EC: 2080.0, PH: 5.6

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHERECE (2393.0 vs 3953.0) 45



P3-11_0, Day=55 (2025-05-27)

1MfF———————T—————_—— ] - 3000
VI, VO, FRV, ET - VI, VO, FVI, EVO, FRV, ad jFRV, ET
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Warning: lcol ['FVI’,

"FVO' ] missing

40

Warning: lcol ['WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

200

300 -

200 -
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